

## International Journal of Maps in Mathematics

Volume 5, Issue 1, 2022, Pages: 78-100

ISSN: 2636-7467 (Online)

www.journalmim.com

# CONFORMAL SLANT RIEMANNIAN MAPS

ŞENER YANAN D \* AND BAYRAM ŞAHİN

ABSTRACT. Conformal slant Riemannian maps from almost Hermitian manifolds to Riemannian manifolds are introduced. We give a non-trivial example of proper conformal slant Riemannian maps, obtain conditions for certain distributions to be integrable and find totally geodesicity conditions for leaves of distributions. We adjust the notion of pluriharmonicity by considering distributions on the total manifold of a conformal slant Riemannian map, and get conditions for such maps to be horizontally homothetic maps.

**Keywords**: Kaehler manifold, Slant immersion, Slant submersion, Slant Riemannian map **2010** Mathematics Subject Classification: 53C43.

### 1. Introduction

The concept of Riemannian submersion was introduced by Gray [13] and O'Neill [19]. Then, this notion was widely studied [10] and new kinds of Riemannian submersions such as invariant, anti-invariant and slant submersion were introduced [26]. Let F be a Riemannian submersion (respectively, horizontally conformal submersion, m > n) from  $(M^m, g_M, J)$  an almost Hermitian manifold to  $(N^n, g_N)$  a Riemannian manifold. If the angle  $\theta(U)$  between the space  $(kerF_{*p})$  and JU is a constant for any non-zero vector field  $U \in \Gamma(kerF_{*p})$ ;  $p \in M$ , i.e., it is independent from the choice of the tangent vector field U in  $(kerF_{*p})$  and choice of the point  $p \in M$ , then we say that F is a slant submersion (respectively, conformal slant submersion) [5, 14, 22].

Received: 2021.04.11 Revised: 2021.11.25 Accepted: 2021.12.05

\* Corresponding author

Şener Yanan; syanan@adiyaman.edu.tr; https://orcid.org/0000-0003-1600-6522

Bayram Şahin; bayram.sahin@gmail.com; https://orcid.org/0000-0002-9372-1151

The notions of isometric immersions and Riemannian submersions are generalized by Riemannian maps between Riemannian manifolds [10, 11, 13, 19]. Let  $F:(M_1,g_1) \longrightarrow (M_2,g_2)$  be a smooth map between Riemannian manifolds such that  $0 < rankF < min\{dim(M_1), dim(M_2)\}$ . So, the tangent bundle  $TM_1$  of  $M_1$  has the sequent decomposition:

$$TM_1 = ker F_* \oplus (ker F_*)^{\perp}.$$

Because of  $rankF < min\{dim(M_1), dim(M_2)\}$ , we always have  $(rangeF_*)^{\perp}$ . Consequently, the tangent bundle  $TM_2$  of  $M_2$  has the sequent decomposition:

$$TM_2 = (rangeF_*) \oplus (rangeF_*)^{\perp}.$$

Hence, a smooth map  $F:(M_1^m,g_1) \longrightarrow (M_2^m,g_2)$  is called Riemannian map at  $p_1 \in M_1$  if the horizontal restriction  $F_{*p_1}^h:(kerF_{*p_1})^{\perp} \longrightarrow (rangeF_*)$  is a linear isometry. Therefore a Riemannian map provides the equation

$$g_1(E,G) = g_2(F_*(E), F_*(G))$$
 (1.1)

for  $E, G \in \Gamma((ker F_*)^{\perp})$ . Isometric immersions and Riemannian submersions are particular Riemannian maps with  $kerF_* = \{0\}$  and  $(rangeF_*)^{\perp} = \{0\}$ , respectively, [11]. As an another generalization of Riemannian submersions defined and studied independently horizontally conformal submersions [12, 15]. By following these studies and B. Sahin's papers including anti-invariant Riemannian, semi-invariant, slant submersions (see also [20]) and conformal anti-invariant [3], conformal slant [7], conformal semi-invariant [4] and conformal semi-slant submersions [2] have appeared in the literature. At the same time, the notion of slant submanifolds was introduced by Chen [9]. Inspiring from this notion, as a general map of Hermitian, anti-invariant and slant submersions, slant Riemannian maps were given in [24, 25] as follows; let F be a Riemannian map from an almost Hermitian manifold  $(M,g_{\scriptscriptstyle M},J)$  to a Riemannian manifold  $(N, g_N)$ . If the angle  $\theta(U)$  is a constant between JU and the space  $ker F_*$  for any non-zero vector field  $U \in \Gamma(ker F_*)$ ; i.e., it is independent from the choice of the tangent U in  $ker F_*$  and choice of the point  $p \in M$ , then we say that F is a slant Riemannian map [24, 25]. On the other hand, we say that  $F:(M^m,g_M)\longrightarrow (N^n,g_N)$  is a conformal Riemannian map at  $p \in M$  if  $0 < rank F_{*p} \le min\{m,n\}$  and  $F_{*p}$  maps the horizontal space  $(ker F_{*p})^{\perp}$ ) conformally onto  $range(F_{*p})$ , i.e., there exist a number  $\lambda^2(p) \neq 0$  such that

$$g_N(F_{*p}(E), F_{*p}(G)) = \lambda^2(p)g_M(E, G)$$

for  $E, G \in \Gamma((ker F_{*p})^{\perp})$ . Also F is said to be conformal Riemannian if F is conformal Riemannian at each  $p \in M$  [21]. Conformal Riemannian maps have many application areas, some of them are computer vision [16], geometric modelling [29] and medical imaging [30]. In a previous paper, the second author and Akyol have studied conformal slant Riemannian maps from a Riemannian manifold to a Kaehler manifold and they have studied the geometry determined by the existence of these maps [5].

In this paper, we present conformal slant Riemannian maps from almost Hermitian manifolds to Riemannian manifolds, investigate geometric properties of the base manifold and the total manifold by the existence of such maps and give examples. We also obtain certain geodesicity conditions for conformal slant Riemannian maps. Moreover, we obtain several conditions for conformal slant Riemannian maps to be horizontally homothetic maps by using the adapted version of the notion of pluri-harmonic maps.

# 2. Preliminaries

In this section, some definitions and useful results which will be used at this paper for conformal slant Riemannian maps are given. Let  $(M, g_M)$  and  $(N, g_N)$  be Riemannian manifolds and suppose that  $F: M \longrightarrow N$  is a smooth map between them. The second fundamental form of F is given by

$$(\nabla F_*)(X,Y) = \nabla_X^F F_*(Y) - F_*(\nabla_X Y)$$
 (2.2)

for  $X, Y \in \Gamma(TM)$ . We know that  $(\nabla F_*)$  is symmetric [17]. Here,  $\overset{N}{\nabla^F}$  is pull-back connection of  $\overset{N}{\nabla}$  on N along F.

Let F be a Riemannian map from a Riemannian manifold  $(M^m,g_{\scriptscriptstyle M})$  to a Riemannian manifold  $(N^n,g_{\scriptscriptstyle N})$ . We characterize  $\mathcal T$  and  $\mathcal A$  as

$$\mathcal{A}_X Y = h \overset{M}{\nabla}_{hX} v Y + v \overset{M}{\nabla}_{hX} h Y, \tag{2.3}$$

$$\mathcal{T}_X Y = h \overset{M}{\nabla}_{vX} vY + v \overset{M}{\nabla}_{vX} hY, \tag{2.4}$$

for  $X,Y \in \Gamma(TM)$ , where  $\stackrel{M}{\nabla}$  is the Levi-Civita connection of  $g_M$ . Actually, we could see that these are O'Neill's tensor fields for Riemannian submersions [19].  $\mathcal{T}_X$  and  $\mathcal{A}_X$  are skew-symmetric operators and reversing the vertical and the horizontal distributions on  $(\Gamma(TM), g)$  for any  $X \in \Gamma(TM)$ . Also, it can be seen easily that  $\mathcal{T}$  is vertical,  $\mathcal{T}_X = \mathcal{T}_{vX}$ , and  $\mathcal{A}$  is horizontal,  $\mathcal{A}_X = \mathcal{A}_{hX}$ . We should know that  $\mathcal{T}$  is symmetric on the vertical distribution

[10, 19]. Following these, from (2.3) and (2.4) we have

$$\overset{M}{\nabla}_{U}V = \mathcal{T}_{U}V + \hat{\nabla}_{U}V, \tag{2.5}$$

$$\overset{M}{\nabla}_{U}E = h\overset{M}{\nabla}_{U}E + \mathcal{T}_{U}E, \tag{2.6}$$

$$\overset{M}{\nabla}_{E}V = \mathcal{A}_{E}V + v\overset{M}{\nabla}_{E}V, \tag{2.7}$$

$$\overset{M}{\nabla}_{E}G = h\overset{M}{\nabla}_{E}G + \mathcal{A}_{E}G \tag{2.8}$$

for  $E, G \in \Gamma((ker F_*)^{\perp})$  and  $U, V \in \Gamma(ker F_*)$ , where  $\hat{\nabla}_U V = v \overset{M}{\nabla}_U V$  [10].

A vector field on M is called a projectable vector field if it is related to a vector field on N. Thus, we say a vector field is basic on M if it is both a horizontal and a projectable vector field. From now on, when we mention a horizontal vector field, we always consider a basic vector field [8].

On the other hand, let F be a conformal Riemannian map between Riemannian manifolds  $(M^m,g_{\scriptscriptstyle M})$  and  $(N^n,g_{\scriptscriptstyle N})$ . Then, we have

$$(\nabla F_*)(E,G) \mid_{rangeF_*} = E(\ln \lambda)F_*(G) + G(\ln \lambda)F_*(E)$$

$$- g_M(E,G)F_*(grad(\ln \lambda)), \qquad (2.9)$$

where  $E, G \in \Gamma((ker F_*)^{\perp})$  [6, 21]. Therefore from (2.9), we obtain  $\overset{N}{\nabla_E^F} F_*(G)$  as

$$\nabla_{E}^{N} F_{*}(G) = F_{*}(h \nabla_{E} G) + E(\ln \lambda) F_{*}(G) + G(\ln \lambda) F_{*}(E) 
- g_{M}(E, G) F_{*}(grad(\ln \lambda)) + (\nabla F_{*})^{\perp}(E, G)$$
(2.10)

where  $(\nabla F_*)^{\perp}(E,G)$  is the component of  $(\nabla F_*)(E,G)$  on  $(rangeF_*)^{\perp}$  for  $E,G \in \Gamma((kerF_*)^{\perp})$  [27, 28].

Finally, we recall the following notion. A map F from a complex manifold  $(M, g_M, J)$  to a Riemannian manifold  $(N, g_N)$  is a pluriharmonic map if F provides the following equation

$$(\nabla F_*)(X,Y) + (\nabla F_*)(JX,JY) = 0 (2.11)$$

for  $X, Y \in \Gamma(TM)$  [18].

## 3. Conformal Slant Riemannian maps

In this section we are going to introduce conformal slant Riemannian maps as a generalization of slant Riemannian maps and conformal slant submersions, present examples and examine the geometry of source manifolds, target manifolds and maps themselves. We present the sequent definition. **Definition 3.1.** Let  $F:(M,g_M,J_M) \longrightarrow (N,g_N)$  be a conformal Riemannian map from an almost Hermitian manifold  $(M,g_M,J_M)$  to a Riemannian manifold  $(N,g_N)$ . If for any non-zero vector  $X \in \Gamma(\ker F_*)$  at a point  $p \in M$ ; the angle  $\theta(X)$  between the space  $\ker F_*$  and  $J_MX$  is a constant, i.e. it is independent of the choice of the tangent vector  $X \in \Gamma(\ker F_*)$  and choice of the point  $p \in M$ , then we say that F is a conformal slant Riemannian map. In this situation, the angle  $\theta$  is called the slant angle of the conformal slant Riemannian map.

We say that a conformal slant Riemannian map is proper if F is not a conformal invariant and a conformal anti-invariant Riemannian map. The sequent example is for a proper conformal slant Riemannian map.

**Example 3.1.** Let  $F:(R^4,g_4,J)\longrightarrow (R^4,g_4)$  be a map from a Kaehlerian manifold  $(R^4,g_4,J)$  to a Riemannian manifold  $(R^4,g_4)$  defined by

$$(e^{x_2}\sin x_4, e^{x_2}\cos x_4, -e^{x_2}\sin x_4, -e^{x_2}\cos x_4).$$

Then, F is a conformal Riemannian map with  $\lambda = e^{x_2}\sqrt{2}$  and  $\operatorname{rank} F = 2$ . One can easily see that F is a proper conformal slant Riemannian map with the slant angle  $\theta = \alpha$  via  $J_{\alpha} = \cos\alpha(-c, -d, a, b) + \sin\alpha(-b, a, d, -c), \ 0 < \alpha \leq \frac{\pi}{2}$ .

Let F be a conformal slant Riemannian map from a Kaehler manifold  $(M, g_M, J)$  to a Riemannian manifold  $(N, g_N)$ . Then for  $V \in \Gamma(ker F_*)$ , we write

$$JV = \phi V + \omega V, \tag{3.12}$$

where  $\phi V \in \Gamma(ker F_*)$  and  $\omega V \in \Gamma((ker F_*)^{\perp})$ . Also for  $X \in \Gamma((ker F_*)^{\perp})$ , we write

$$JX = BX + CX, (3.13)$$

where  $BX \in \Gamma(kerF_*)$  and  $CX \in \Gamma((kerF_*)^{\perp})$ . We have covariant derivatives of  $\phi$  and  $\omega$ :

$$(\overset{M}{\nabla}_{U}\omega)V = h\overset{M}{\nabla}_{U}\omega V - \omega\hat{\nabla}_{U}V, \tag{3.14}$$

$$(\overset{M}{\nabla}_{U}\phi)V = \hat{\nabla}_{U}\phi V - \phi\hat{\nabla}_{U}V \tag{3.15}$$

for any  $U, V \in \Gamma(kerF_*)$ .

We give the following result by using equations (2.5), (2.6), (3.12), (3.13) and covariant derivatives of  $\phi$  and  $\omega$ .

**Lemma 3.1.** Let  $F:(M,g_M,J) \longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M,g_M,J)$  to a Riemannian manifold  $(N,g_N)$ . Then F is a conformal slant Riemannian map, we get

$$h \overset{M}{\nabla}_{U} \omega V - \omega \hat{\nabla}_{U} V = C T_{U} V - T_{U} \phi V,$$

$$\hat{\nabla}_U \phi V - \phi \hat{\nabla}_U V = BT_U V - T_U \omega V$$

for any  $U, V \in \Gamma(kerF_*)$ .

Now, we present the following characterization for conformal slant Riemannian maps.

**Theorem 3.1.** Let  $F:(M,g_M,J) \longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M,g_M,J)$  to a Riemannian manifold  $(N,g_N)$ . Then F is a conformal slant Riemannian map if and only if there exists a constant  $\lambda \in [-1,0]$  such that

$$\phi^2 U = \lambda U$$

for  $U \in \Gamma(ker F_*)$ . If F is a conformal slant Riemannian map, then  $\lambda = -\cos^2\theta$ .

**Proof.** For  $U \in \Gamma(\ker F_*)$  we have  $\cos \theta = \frac{\|\phi U\|}{\|JU\|}$ . Since M is a Kaehler manifold, we get

$$g_M(\phi^2 U, U) = -g_M(\phi U, \phi U) = -\cos^2 \theta g_M(U, U).$$

Hence, we have  $\phi^2 U = \lambda U$ . Conversely, suppose that  $\phi^2 U = \lambda U$  for  $\forall U \in \Gamma(ker F_*)$  with  $\lambda \in [-1, 0]$ . Hence, we obtain

$$\cos \theta = \frac{g_M(JU, \phi U)}{\|JU\| \|\phi U\|} = -\lambda \frac{\|JU\|}{\|\phi U\|}.$$
 (3.16)

Using  $\cos \theta = \frac{\|\phi U\|}{\|JU\|}$  in (3.16) we get  $\lambda = -\cos^2 \theta$ .

From (3.12) and Theorem 3.1. we have the next result.

**Theorem 3.2.** Let  $F:(M,g_M,J) \longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M,g_M,J)$  to a Riemannian manifold  $(N,g_N)$  with the slant angle  $\theta$ . Then, we have

$$g_M(\phi U, \phi V) = \cos^2 \theta g_M(U, V) \tag{3.17}$$

$$g_M(\omega U, \omega V) = \sin^2 \theta g_M(U, V)$$
 (3.18)

for any  $U, V \in \Gamma(kerF_*)$ .

Let F be a conformal slant Riemannian map from an almost Hermitian manifold  $(M, g_M, J)$ onto a Riemannian manifold  $(N, g_N)$  with the slant angle  $\theta$ ; then we say that  $\omega$  is parallel with respect to  $\overset{M}{\nabla}$  on  $ker F_*$  if its covariant derivative according to  $\overset{M}{\nabla}$  vanishes, i.e.

$$(\overset{M}{\nabla}_{U}\omega)V = 0 \tag{3.19}$$

for  $U, V \in \Gamma(kerF_*)$ .

**Theorem 3.3.** Let  $F:(M,g_M,J)\longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M, g_M, J)$  to a Riemannian manifold  $(N, g_N)$ . If  $\omega$  is parallel according to  $\overset{M}{\nabla}$  on  $kerF_*$ , then we have

$$T_{\phi U}\phi U = -\cos^2\theta T_U U \tag{3.20}$$

for  $U \in \Gamma(kerF_*)$ .

If  $\omega$  is parallel according to  $\overset{M}{\nabla}$  on  $kerF_*$ , we obtain using (3.14) and Lemma 3.1. for  $U, V \in \Gamma(kerF_*)$ 

$$CT_UV = T_U\phi V. (3.21)$$

Now, changing roles of U and V in (3.21) we get

$$CT_V U = T_V \phi U. \tag{3.22}$$

Because vertical vector field T is symmetric, from (3.21) and (3.22) we get

$$T_U \phi V = T_V \phi U. \tag{3.23}$$

Since  $\phi^2 V = \lambda V$  and for  $V = \phi U$  in (3.23) we obtain

$$-\cos^2\theta T_U U = T_{\phi U}\phi U,$$

which gives the assertion.

**Theorem 3.4.** Let  $F:(M,g_M,J)\longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M, g_M, J)$  to a Riemannian manifold  $(N, g_N)$ . Then, two of the below assertions imply the third assertion,

i- The horizontal distribution  $(ker F_*)^{\perp}$  is integrable,

ii- 
$$X(\ln \lambda)g_M(Y,\omega\phi U) = Y(\ln \lambda)g_M(X,\omega\phi U)$$

$$\begin{split} &\text{ii- } X(\ln \lambda)g_M(Y,\omega\phi U) = Y(\ln \lambda)g_M(X,\omega\phi U), \\ &\text{iii- } g_N(F_*(Ch\overset{M}{\nabla}_X\omega U + \omega A_X\omega U), F_*(Y)) + g_N(\overset{N}{\nabla}_X^FF_*(\omega\phi U), F_*(Y)) \\ &= g_N(F_*(Ch\overset{M}{\nabla}_Y\omega U + \omega A_Y\omega U), F_*(X)) + g_N(\overset{N}{\nabla}_Y^FF_*(\omega\phi U), F_*(X)) \end{split}$$

for  $X, Y \in \Gamma((kerF_*)^{\perp})$  and  $U \in \Gamma(kerF_*)$ .

**Proof.** Now, for  $X, Y \in \Gamma((kerF_*)^{\perp})$  and  $U \in \Gamma(kerF_*)$ , using (2.8) and (3.12), we obtain

$$g_{M}([X,Y],U) = g_{M}(\overset{M}{\nabla}_{X}J\phi U,Y) + g_{M}(JA_{X}\omega U + Jh\overset{M}{\nabla}_{X}\omega U,Y)$$
$$- g_{M}(\overset{M}{\nabla}_{Y}J\phi U,X) - g_{M}(JA_{Y}\omega U + Jh\overset{M}{\nabla}_{Y}\omega U,X).$$

Since F is a conformal map, from Theorem 3.1., (2.8) and (3.13) we get

$$g_{M}([X,Y],U) = cos^{2}\theta g_{M}([X,Y],U) + \frac{1}{\lambda^{2}} \{g_{N}(F_{*}(h\overset{M}{\nabla}_{X}\omega\phi U), F_{*}(Y))$$

$$+ g_{N}(F_{*}(\omega A_{X}\omega U), F_{*}(Y)) + g_{N}(F_{*}(Ch\overset{M}{\nabla}_{X}\omega U), F_{*}(Y))$$

$$- g_{N}(F_{*}(h\overset{M}{\nabla}_{Y}\omega\phi U), F_{*}(X)) - g_{N}(F_{*}(\omega A_{Y}\omega U), F_{*}(X))$$

$$- g_{N}(F_{*}(Ch\overset{M}{\nabla}_{Y}\omega U), F_{*}(X)) \}.$$

Now, from (2.2) and (2.9) we have

$$sin^{2}\theta g_{M}([X,Y],U) = \frac{1}{\lambda^{2}} \{g_{N}(F_{*}(Ch\overset{M}{\nabla}_{X}\omega U + \omega A_{X}\omega U), F_{*}(Y))$$

$$- g_{N}(F_{*}(Ch\overset{M}{\nabla}_{Y}\omega U + \omega A_{Y}\omega U), F_{*}(X))$$

$$+ g_{N}(F_{*}(\overset{N}{\nabla}_{X}^{F}F_{*}(\omega\phi U), F_{*}(Y))$$

$$- g_{N}(F_{*}(\overset{N}{\nabla}_{Y}^{F}F_{*}(\omega\phi U), F_{*}(X))$$

$$- X(\ln\lambda)g_{N}(F_{*}(\omega\phi U), F_{*}(Y))$$

$$- \omega\phi U(\ln\lambda)g_{N}(F_{*}(X), F_{*}(Y))$$

$$+ g_{M}(X, \omega\phi U)g_{N}(F_{*}(grad(\ln\lambda)), F_{*}(Y))$$

$$- g_{N}((\nabla F_{*})^{\perp}(X, \omega\phi U), F_{*}(X))$$

$$+ Y(\ln\lambda)g_{N}(F_{*}(\omega\phi U), F_{*}(X))$$

$$+ \omega\phi U(\ln\lambda)g_{N}(F_{*}(Y), F_{*}(X))$$

$$- g_{M}(Y, \omega\phi U)g_{N}(F_{*}(grad(\ln\lambda)), F_{*}(X))$$

$$+ g_{N}((\nabla F_{*})^{\perp}(Y, \omega\phi U), F_{*}(X))\}.$$

Using conformality of F we obtain

$$sin^{2}\theta g_{M}([X,Y],U) = \frac{1}{\lambda^{2}} \{g_{N}(F_{*}(Ch\nabla_{X}^{M}\omega U + \omega A_{X}\omega U), F_{*}(Y))$$

$$- g_{N}(F_{*}(Ch\nabla_{Y}^{M}\omega U + \omega A_{Y}\omega U), F_{*}(X))$$

$$+ g_{N}(F_{*}(\nabla_{X}^{F}F_{*}(\omega\phi U), F_{*}(Y))$$

$$- g_{N}(F_{*}(\nabla_{Y}^{F}F_{*}(\omega\phi U), F_{*}(X))\}$$

$$+ 2Y(\ln\lambda)g_{M}(X, \omega\phi U) - 2X(\ln\lambda)g_{M}(Y, \omega\phi U).$$

The proof is completed from the above equation.

Now we will examine the geometry of leaves of the vertical distribution.

**Theorem 3.5.** Let  $F:(M,g_M,J) \longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M,g_M,J)$  to a Riemannian manifold  $(N,g_N)$ . Then, the vertical distribution  $ker F_*$  defines a totally geodesic foliation on M if and only if

$$g_N((\nabla F_*)(U,JX),F_*(\omega V))=g_N((\nabla F_*)(U,X),F_*(\omega \phi V))$$

for  $X \in \Gamma((kerF_*)^{\perp})$  and  $U, V \in \Gamma(kerF_*)$ .

**Proof.** Because of M is a Kaehler manifold and from Theorem 3.1., (3.12) and (3.13), we have

$$g_{M}(\overset{M}{\nabla}_{U}V, X) = -\cos^{2}\theta g_{M}(\overset{M}{\nabla}_{U}X, V) - g_{M}(\overset{M}{\nabla}_{U}X, \omega\phi V) - g_{M}(\overset{M}{\nabla}_{U}CX, \omega V).$$

Hence we have

$$sin^{2}\theta g_{M}(\overset{M}{\nabla}_{U}V,X) = -g_{M}(h\overset{M}{\nabla}_{U}X,\omega\phi V) - g_{M}(T_{U}BX,\omega V) - g_{M}(h\overset{M}{\nabla}_{U}CX,\omega V).$$

Now, from (2.2) we get

$$sin^{2}\theta g_{M}(\overset{M}{\nabla}_{U}V,X) = \frac{1}{\lambda^{2}}\{-g_{N}(F_{*}(h\overset{M}{\nabla}_{U}X),F_{*}(\omega\phi V))$$

$$- g_{N}(F_{*}(T_{U}BX),F_{*}(\omega V))$$

$$- g_{N}(F_{*}(h\overset{M}{\nabla}_{U}CX),F_{*}(\omega V))\}$$

$$= \frac{1}{\lambda^{2}}\{g_{N}((\nabla F_{*})(U,JX),F_{*}(\omega V))$$

$$- g_{N}((\nabla F_{*})(U,X),F_{*}(\omega\phi V))\}.$$

This completes the proof.

Now, we examine the geometry of the horizontal distribution.

**Theorem 3.6.** Let  $F:(M,g_M,J) \longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M,g_M,J)$  to a Riemannian manifold  $(N,g_N)$ . Then, two of the below assertions imply the third assertion,

i- the horizontal distribution  $(ker F_*)^{\perp}$  defines a totally geodesic foliation on M,

ii- F is a horizontally homothetic map,

iii- 
$$g_M(A_XY, U) = \frac{1}{\lambda^2} g_N(\nabla_X^F F_*(Y), F_*(\omega \phi U + C\omega U))$$

for  $X, Y \in \Gamma((kerF_*)^{\perp})$  and  $U \in \Gamma(kerF_*)$ .

**Proof.** Now, from (2.8), (3.17) and (3.18) we have

$$g_{M}(\overset{M}{\nabla}_{X}Y,U) = g_{M}(JA_{X}Y + Jh\overset{M}{\nabla}_{X}Y,\phi U)$$

$$+ g_{M}(JA_{X}Y + Jh\overset{M}{\nabla}_{X}Y,\omega U)$$

$$= cos^{2}\theta g_{M}(A_{X}Y,U) - g_{M}(h\overset{M}{\nabla}_{X}Y,J\phi U)$$

$$+ sin^{2}\theta g_{M}(A_{X}Y,U) - g_{M}(h\overset{M}{\nabla}_{X}Y,J\omega U)$$

$$= g_{M}(A_{X}Y,U) - g_{M}(h\overset{M}{\nabla}_{X}Y,\omega\phi U) - g_{M}(h\overset{M}{\nabla}_{X}Y,C\phi U)$$

for  $X, Y \in \Gamma((ker F_*)^{\perp})$  and  $U \in \Gamma(ker F_*)$ . From (2.2) and (2.9), we obtain

$$g_{M}(\overset{M}{\nabla}_{X}Y,U) = g_{M}(A_{X}Y,U) - \frac{1}{\lambda^{2}}g_{N}(\overset{N}{\nabla}_{X}^{F}F_{*}(Y), F_{*}(\omega\phi U + C\omega U))$$

$$+ X(\ln\lambda)g_{M}(Y,\omega\phi U) + Y(\ln\lambda)g_{M}(X,\omega\phi U)$$

$$- \omega\phi U(\ln\lambda)g_{M}(X,Y) + X(\ln\lambda)g_{M}(Y,C\omega U)$$

$$+ Y(\ln\lambda)g_{M}(X,C\omega U) - C\omega U(\ln\lambda)g_{M}(X,Y). \tag{3.24}$$

If the horizontal distribution  $(ker F_*)^{\perp}$  defines a totally geodesic foliation on M for  $X, Y \in \Gamma((ker F_*)^{\perp})$ ,  $U \in \Gamma(ker F_*)$  and  $g_M(A_X Y, U) = \frac{1}{\lambda^2} g_N(\nabla_X^F F_*(Y), F_*(\omega \phi U + C \omega U))$ , we show that the map F is a horizontally homothetic map. If (i) and (iii) are satisfied, then we have

$$0 = X(\ln \lambda)g_M(Y, \omega \phi U) + Y(\ln \lambda)g_M(X, \omega \phi U)$$
$$- \omega \phi U(\ln \lambda)g_M(X, Y) + X(\ln \lambda)g_M(Y, C\omega U)$$
$$+ Y(\ln \lambda)g_M(X, C\omega U) - C\omega U(\ln \lambda)g_M(X, Y)$$
(3.25)

for  $X, Y \in \Gamma((ker F_*)^{\perp})$  and  $U \in \Gamma(ker F_*)$ . Suppose that  $X = \omega \phi U$ ,  $Y = C\omega U$  in equation (3.25), we have

$$C\omega U(\ln \lambda)g_M(\omega\phi U, \omega\phi U) + \omega\phi U(\ln \lambda)g_M(C\omega U, C\omega U) = 0.$$
(3.26)

If  $C\omega U(\ln \lambda) = 0$  from (3.26) we get  $\omega \phi U(\ln \lambda) g_M(C\omega U, C\omega U) = 0$  for  $C\omega U \in \Gamma(C(ker F_*)^{\perp})$ . Therefore  $\lambda$  is a constant on  $\Gamma(\omega(ker F_*))$ . At the same time, if  $\omega \phi U(\ln \lambda) = 0$  we derive  $C\omega U(\ln \lambda) g_M(\omega \phi U, \omega \phi U) = 0$  from (3.26) for  $\omega \phi U \in \Gamma(\omega(ker F_*))$ . Thus  $\lambda$  is a constant on  $\Gamma(C(ker F_*)^{\perp})$ . So, F is a horizontally homothetic map. The rest of the proof is clear.

Now we are going to slightly modify the notion of pluriharmonic map and use this new notion to obtain certain conditions for conformal slant Riemannian maps to be horizontally homothetic map. We say that a conformal slant Riemannian map F from a complex manifold  $(M, g_M, J)$  to a Riemannian manifold  $(N, g_N)$  is  $kerF_*$ — (respectively,  $(kerF_*)^{\perp}$ ,  $\omega(kerF_*)$ ,  $\mu$ ) pluriharmonic map if F satisfies the following equation

$$(\nabla F_*)(U, V) + (\nabla F_*)(JU, JV) = 0$$

for  $U, V \in \Gamma(kerF_*)$  (respectively,  $(kerF_*)^{\perp}$ ,  $\omega(kerF_*)$ ,  $\mu$ ) [27, 28].

**Theorem 3.7.** Let  $F:(M,g_M,J) \longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M,g_M,J)$  to a Riemannian manifold  $(N,g_N)$ . If F is a  $kerF_*$ -pluriharmonic map, then one of the below assertions imply the second assertion,

i- F is a horizontally homothetic map,

ii- 
$$F_*(A_{\omega U}\phi V + A_{\omega V}\phi U) = F_*(h\overset{M}{\nabla}_U\omega\phi V + \omega T_U\omega V + Ch\overset{M}{\nabla}_U\omega V)$$
 and  $(\nabla F_*)^{\perp}(\omega U,\omega V) = 0$ 

for  $U, V \in \Gamma(kerF_*)$ .

**Proof.** From the definition of  $kerF_*$ -pluriharmonic map, (2.2) and (2.10), we have

$$0 = F_*(\overset{M}{\nabla}_U J \phi V + J \overset{M}{\nabla}_U \omega V) - F_*(\overset{M}{\nabla}_{\phi U} \phi V) - F_*(\overset{M}{\nabla}_{\omega V} \phi U)$$
$$- F_*(\overset{M}{\nabla}_{\omega U} \phi V) + (\nabla F_*)^{\perp} (\omega U, \omega V) + \omega U(\ln \lambda) F_*(\omega V)$$
$$+ \omega V(\ln \lambda) F_*(\omega U) - g_M(\omega U, \omega V) F_*(grad(\ln \lambda)).$$

Now, using (2.6), (3.20) and Theorem 3.1., we get

$$0 = F_*(h\nabla_U\omega\phi V + \omega T_U\omega V + Ch\nabla_U\omega V - A_{\omega U}\phi V - A_{\omega V}\phi U)$$

$$+ (\nabla F_*)^{\perp}(\omega U, \omega V) + \omega U(\ln\lambda)F_*(\omega V) + \omega V(\ln\lambda)F_*(\omega U)$$

$$- g_M(\omega U, \omega V)F_*(qrad(\ln\lambda)). \tag{3.27}$$

If (i) is provided we have from (3.27)

$$\omega U(\ln \lambda) F_*(\omega V) + \omega V(\ln \lambda) F_*(\omega U) - g_M(\omega U, \omega V) F_*(grad(\ln \lambda)) = 0$$

for  $U, V \in \Gamma(ker F_*)$ . So one can see second assertion clearly. Now if (ii) is satisfied in (3.27) we have  $F_*(A_{\omega U}\phi V + A_{\omega V}\phi U) = F_*(h\nabla_U\omega\phi V + \omega T_U\omega V + Ch\nabla_U\omega V)$  and  $(\nabla F_*)^{\perp}(\omega U, \omega V) = 0$  for  $U, V \in \Gamma(ker F_*)$ , respectively. Thus, by (3.27) we get

$$0 = \omega U(\ln \lambda) F_*(\omega V) + \omega V(\ln \lambda) F_*(\omega U)$$
$$- g_M(\omega U, \omega V) F_*(grad(\ln \lambda)). \tag{3.28}$$

For  $\omega U \in \Gamma(\omega(\ker F_*))$  from (3.28) we get  $0 = \lambda^2 \omega V(\ln \lambda) g_M(\omega U, \omega U)$ , which implies that  $\omega(\ker F_*)(\operatorname{grad}(\ln \lambda)) = 0$ . At the same time, from (3.28) if we take  $\omega U = \omega V$  and for  $X \in \Gamma(C(\ker F_*)^{\perp})$  we get

$$0 = 2\lambda^2 \omega U(\ln \lambda) g_M(X, \omega U) - \lambda^2 X(\ln \lambda) g_M(\omega U, \omega U). \tag{3.29}$$

Because of  $\lambda$  is a constant on  $\omega(kerF_*)$  we have  $2\lambda^2\omega U(\ln\lambda)g_M(X,\omega U)=0$ . Thus, by (3.29) we get  $\lambda^2X(\ln\lambda)g_M(\omega U,\omega U)=0$ , which implies that  $(C(kerF_*)^{\perp})(grad(\ln\lambda))=0$ . Thus,  $\mathcal{H}(grad(\ln\lambda))=0$ . It can be seen from here that F is a horizontally homothetic map.

**Theorem 3.8.** Let  $F:(M,g_M,J) \longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M,g_M,J)$  to a Riemannian manifold  $(N,g_N)$ . If F is a  $(ker F_*)^{\perp}$ -pluriharmonic map, then F is a horizontally homothetic map if and only if the following conditions

$$(\nabla F_*)^{\perp}(X,Y) + (\nabla F_*)^{\perp}(CX,CY) = 0$$

and

$$F_*(T_{BX}BY + A_{CY}BX + A_{CX}BY) = 0,$$

are satisfied for  $X, Y \in \Gamma((ker F_*)^{\perp})$ .

**Proof.** From the definition of a  $(ker F_*)^{\perp}$ -pluriharmonic map, (2.2) and (2.9), we have

$$0 = (\nabla F_{*})^{\perp}(X,Y) + X(\ln \lambda)F_{*}(Y) + Y(\ln \lambda)F_{*}(X)$$

$$- g_{M}(X,Y)F_{*}(grad(\ln \lambda)) + (\nabla F_{*})^{\perp}(CX,CY) + CX(\ln \lambda)F_{*}(CY)$$

$$+ CY(\ln \lambda)F_{*}(CX) - g_{M}(CX,CY)F_{*}(grad(\ln \lambda))$$

$$- F_{*}(\overset{M}{\nabla}_{BX}BY) - F_{*}(\overset{M}{\nabla}_{CY}BX) - F_{*}(\overset{M}{\nabla}_{CX}BY)$$

or

$$0 = (\nabla F_{*})^{\perp}(X,Y) + (\nabla F_{*})^{\perp}(CX,CY) + X(\ln \lambda)F_{*}(Y)$$

$$+ Y(\ln \lambda)F_{*}(X) - g_{M}(X,Y)F_{*}(grad(\ln \lambda)) + CX(\ln \lambda)F_{*}(CY)$$

$$+ CY(\ln \lambda)F_{*}(CX) - g_{M}(CX,CY)F_{*}(grad(\ln \lambda))$$

$$- F_{*}(T_{BX}BY + A_{CY}BX + A_{CX}BY)$$
(3.30)

for  $X, Y \in \Gamma((ker F_*)^{\perp})$ . If F is a horizontally homothetic map we have from equation (3.30)

$$0 = X(\ln \lambda)F_*(Y) + Y(\ln \lambda)F_*(X)$$
$$- g_M(X,Y)F_*(grad(\ln \lambda)) + CX(\ln \lambda)F_*(CY)$$
$$+ CY(\ln \lambda)F_*(CX) - g_M(CX,CY)F_*(grad(\ln \lambda))$$

for  $X,Y \in \Gamma((kerF_*)^{\perp})$ . Since F is a horizontally homothetic map from (3.30) we obtain  $(\nabla F_*)^{\perp}(X,Y) + (\nabla F_*)^{\perp}(CX,CY) = 0$  and  $F_*(T_{BX}BY + A_{CY}BX + A_{CX}BY) = 0$  for  $X,Y \in \Gamma((kerF_*)^{\perp})$ . Now suppose that  $(\nabla F_*)^{\perp}(X,Y) + (\nabla F_*)^{\perp}(CX,CY) = 0$  and  $F_*(T_{BX}BY + A_{CY}BX + A_{CX}BY) = 0$  in (3.30) for  $X,Y \in \Gamma((kerF_*)^{\perp})$ , respectively. Thus, by (3.30) we get

$$0 = X(\ln \lambda)F_*(Y) + Y(\ln \lambda)F_*(X)$$

$$- g_M(X,Y)F_*(grad(\ln \lambda)) + CX(\ln \lambda)F_*(CY)$$

$$+ CY(\ln \lambda)F_*(CX) - g_M(CX,CY)F_*(grad(\ln \lambda)). \tag{3.31}$$

For X = CX, Y = CY and  $CY \in \Gamma(C(kerF_*)^{\perp})$  in (3.31), we get  $0 = 2\lambda^2 CX(\ln \lambda)$   $g_M(CY, CY)$ , which implies that  $(C(kerF_*)^{\perp})(grad(\ln \lambda)) = 0$ . At the same time, from (3.31) if we take X = Y = CX and  $\omega U \in \Gamma(\omega(kerF_*))$ , we get

$$0 = 4\lambda^2 CX(\ln \lambda)g_M(CX, \omega U) - 2\lambda^2 \omega U(\ln \lambda)g_M(CX, CX). \tag{3.32}$$

Since  $\lambda$  is a constant on  $C(kerF_*)^{\perp}$  we have  $4\lambda^2 CX(\ln \lambda)g_M(CX,\omega U) = 0$ . Thus, by (3.32) we get  $-2\lambda^2\omega U(\ln \lambda)g_M(CX,CX) = 0$ , which implies that  $(\omega(kerF_*))(grad(\ln \lambda)) = 0$ . Thus,  $\mathcal{H}(grad(\ln \lambda)) = 0$ . It can be seen from here that F is a horizontally homothetic map.

We say that a conformal slant Riemannian map F from a complex manifold  $(M, g_M, J)$  to a Riemannian manifold  $(N, g_N)$  is  $\{(ker F_*)^{\perp} - (ker F_*)\}$  – pluriharmonic map if F satisfies the following equation

$$(\nabla F_*)(X, V) + (\nabla F_*)(JX, JV) = 0$$

for  $X \in \Gamma((kerF_*)^{\perp})$  and  $V \in \Gamma(kerF_*)$  [27, 28].

**Theorem 3.9.** Let  $F:(M,g_M,J) \longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M,g_M,J)$  to a Riemannian manifold  $(N,g_N)$ . If F is a  $\{(ker F_*)^{\perp} - (ker F_*)\}$ -pluriharmonic map, then two of the below assertions imply the third assertion,

i- F is a horizontally homothetic map,

ii- 
$$F_*(T_{BX}\omega U + A_{\omega U}BX + A_{CX}\phi U + h\nabla_X\omega\phi U) = F_*(\omega A_X\omega U + Ch\nabla_X\omega U)$$
  
and  $(\nabla F_*)^{\perp}(CX, \omega U) = 0$ ,

iii- The vertical distribution  $ker F_*$  is parallel along the horizontal distribution  $(ker F_*)^{\perp}$  on M,

for  $X \in \Gamma((kerF_*)^{\perp})$  and  $U \in \Gamma(kerF_*)$ .

**Proof.** From the definition of  $\{(kerF_*)^{\perp} - (kerF_*)\}$  – pluriharmonic map we get

$$0 = (\nabla F_*)(X, U) + (\nabla F_*)(JX, JU)$$

for  $X \in \Gamma((kerF_*)^{\perp})$  and  $U \in \Gamma(kerF_*)$ . Using symmetry property of second fundamental form of a map by (2.2), (3.12) and (3.13) we get

$$0 = -F_*(\overset{M}{\nabla}_X U) + (\nabla F_*)(BX, \phi U) + (\nabla F_*)(\omega U, BX)$$
$$+ (\nabla F_*)(CX, \phi U) + (\nabla F_*)(CX, \omega U).$$

From (2.7), (2.8) and (2.10) we get

$$0 = F_*(\overset{M}{\nabla}_X J \phi U) + F_*(J A_X \omega U + J h \overset{M}{\nabla}_X \omega U) - F_*(T_{BX} \phi U)$$
$$- F_*(A_{\omega U} B X) - F_*(A_{CX} \phi U) + (\nabla F_*)^{\perp}(CX, \omega U)$$
$$+ CX(\ln \lambda) F_*(\omega U) + \omega U(\ln \lambda) F_*(CX)$$
$$- g_M(CX, \omega U) F_*(grad(\ln \lambda)).$$

Now, from Theorem 3.1., we have

$$cos^{2}\theta F_{*}(\overset{M}{\nabla}_{X}U) = F_{*}(h\overset{M}{\nabla}_{X}\omega\phi U + \omega A_{X}\omega U + Ch\overset{M}{\nabla}_{X}\omega U)$$

$$- F_{*}(T_{BX}\phi U + A_{\omega U}BX + A_{CX}\phi U)$$

$$+ (\nabla F_{*})^{\perp}(CX, \omega U)$$

$$+ CX(\ln \lambda)F_{*}(\omega U) + \omega U(\ln \lambda)F_{*}(CX)$$

$$- g_{M}(CX, \omega U)F_{*}(grad(\ln \lambda))$$
(3.33)

for  $X \in \Gamma((ker F_*)^{\perp})$  and  $U \in \Gamma(ker F_*)$ . If (i) and (ii) are satisfied in (3.33) we have

$$0 = CX(\ln \lambda)F_*(\omega U) + \omega U(\ln \lambda)F_*(CX) - g_M(CX, \omega U)F_*(grad(\ln \lambda)),$$
$$(\nabla F_*)^{\perp}(CX, \omega U) = 0$$

and

$$F_*(T_{BX}\omega U + A_{\omega U}BX + A_{CX}\phi U + h \overset{M}{\nabla}_X \omega \phi U) = F_*(\omega A_X \omega U + Ch \overset{M}{\nabla}_X \omega U),$$

respectively. Then we get  $F_*(\overset{M}{\nabla}_X U) = 0$ . Therefore the vertical distribution  $ker F_*$  is parallel along the horizontal distribution  $(ker F_*)^{\perp}$  on M for  $X \in \Gamma((ker F_*)^{\perp})$  and  $U \in \Gamma(ker F_*)$ . Suppose that (i) and (iii) are satisfied in (3.33), one can see clearly that (ii) is satisfies. Assume that (ii) and (iii) are satisfied in (3.33) we get

$$0 = CX(\ln \lambda)F_*(\omega U) + \omega U(\ln \lambda)F_*(CX)$$
$$- g_M(CX, \omega U)F_*(grad(\ln \lambda)). \tag{3.34}$$

For  $CX \in \Gamma(C(kerF_*)^{\perp})$  in (3.34) we get  $0 = \lambda^2 \omega U(\ln \lambda) g_M(CX, CX)$ , which implies that  $(\omega(kerF_*))(grad(\ln \lambda)) = 0$ . At the same time, from (3.34) for  $\omega U \in \Gamma(\omega(kerF_*))$  we get  $0 = \lambda^2 CX(\ln \lambda) g_M(\omega U, \omega U)$ , which implies that  $(C(kerF_*)^{\perp})(grad(\ln \lambda)) = 0$ . Thus,  $\mathcal{H}(grad(\ln \lambda)) = 0$ . It can be seen from here that F is a horizontally homothetic map.

**Theorem 3.10.** Let  $F:(M,g_M,J) \longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M,g_M,J)$  to a Riemannian manifold  $(N,g_N)$ . If F is a  $\omega(\ker F_*)$ -pluriharmonic map, then F is a horizontally homothetic map if and only if the following conditions

$$(\nabla F_*)^{\perp}(Z,Y) + (\nabla F_*)^{\perp}(CZ,CY) = 0$$

and

$$F_*(T_{BZ}BY + A_{CZ}BY + A_{CY}BZ) = 0$$

are satisfied for  $Z, Y \in \Gamma(\omega(kerF_*))$ .

**Proof.** From the definition of  $\omega(kerF_*)$  – pluriharmonic map we have

$$0 = (\nabla F_*)(Z, Y) + (\nabla F_*)(JZ, JY)$$

for  $Z, Y \in \Gamma(\omega(kerF_*))$ . From (2.2), (2.9) and (3.13) we get

$$0 = (\nabla F_{*})^{\perp}(Z,Y) + Z(\ln \lambda)F_{*}(Y) + Y(\ln \lambda)F_{*}(Z)$$

$$- g_{M}(Z,Y)F_{*}(grad(\ln \lambda)) - F_{*}(\overset{M}{\nabla}_{BZ}BY) - F_{*}(\overset{M}{\nabla}_{CZ}BY)$$

$$- F_{*}(\overset{M}{\nabla}_{CY}BZ) + (\nabla F_{*})^{\perp}(CY,CZ) + CZ(\ln \lambda)F_{*}(CY)$$

$$+ CY(\ln \lambda)F_{*}(CZ) - g_{M}(CZ,CY)F_{*}(grad(\ln \lambda)).$$

Using (2.5) and (2.7) we get

$$0 = (\nabla F_{*})^{\perp}(Z,Y) + (\nabla F_{*})^{\perp}(CY,CZ) + Z(\ln \lambda)F_{*}(Y)$$

$$+ Y(\ln \lambda)F_{*}(Z) - g_{M}(Z,Y)F_{*}(grad(\ln \lambda)) + CZ(\ln \lambda)F_{*}(CY)$$

$$+ CY(\ln \lambda)F_{*}(CZ) - g_{M}(CZ,CY)F_{*}(grad(\ln \lambda))$$

$$- F_{*}(T_{BZ}BY) - F_{*}(A_{CZ}BY) - F_{*}(A_{CY}BZ). \tag{3.35}$$

If F is a horizontally homothetic map we have from (3.35)

$$0 = Z(\ln \lambda)F_*(Y) + Y(\ln \lambda)F_*(Z) - g_M(Z,Y)F_*(grad(\ln \lambda))$$
$$+ CZ(\ln \lambda)F_*(CY) + CY(\ln \lambda)F_*(CZ) - g_M(CZ,CY)F_*(grad(\ln \lambda))$$

for  $Z, Y \in \Gamma(\omega(kerF_*))$ . Since F is a horizontally homothetic map from (3.35) we obtain  $(\nabla F_*)^{\perp}(Z, Y) + (\nabla F_*)^{\perp}(CZ, CY) = 0$  and  $F_*(T_{BZ}BY + A_{CZ}BY + A_{CY}BZ) = 0$  for  $Z, Y \in \Gamma(\omega(kerF_*))$ . Suppose that

$$(\nabla F_*)^{\perp}(Z,Y) + (\nabla F_*)^{\perp}(CZ,CY) = 0$$

and  $F_*(T_{BZ}BY + A_{CZ}BY + A_{CY}BZ) = 0$  in (3.35) for  $Z, Y \in \Gamma(\omega(kerF_*))$ . Thus, by (3.35) we get

$$0 = Z(\ln \lambda)F_*(Y) + Y(\ln \lambda)F_*(Z) - g_M(Z,Y)F_*(grad(\ln \lambda))$$

$$+ CZ(\ln \lambda)F_*(CY) + CY(\ln \lambda)F_*(CZ)$$

$$- g_M(CZ,CY)F_*(grad(\ln \lambda)). \tag{3.36}$$

We know  $g_M(Y,CY) = g_M(Y,JY-BY) = g_M(Y,JY) = 0$ . For Z = Y and  $CY \in \Gamma(C(kerF_*)^{\perp})$  in (3.36) we get  $0 = -\lambda^2 CY(\ln \lambda)\{g_M(Y,Y) - g_M(CY,CY)\}$  which implies that  $(C(kerF_*)^{\perp})(grad(\ln \lambda)) = 0$ . At the same time, from (3.36) if we take Z = Y and  $Y \in \Gamma(\omega(kerF_*))$  we get  $0 = \lambda^2 Y(\ln \lambda)\{g_M(Y,Y) - g_M(CY,CY)\}$  which implies that  $(\omega(kerF_*))(grad(\ln \lambda)) = 0$ . Thus  $\mathcal{H}(grad(\ln \lambda)) = 0$ . It can be seen from here that F is a horizontally homothetic map.

We say that a conformal slant Riemannian map F from a complex manifold  $(M, g_M, J)$  to a Riemannian manifold  $(N, g_N)$  is  $(\mu - \omega(kerF_*))$ -pluriharmonic map if F satisfies the following equation

$$(\nabla F_*)(X,Y) + (\nabla F_*)(JX,JY) = 0$$

for  $X \in \Gamma(\mu)$  and  $Y \in \Gamma(\omega(kerF_*))$ .

**Theorem 3.11.** Let  $F:(M,g_M,J) \longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M,g_M,J)$  to a Riemannian manifold  $(N,g_N)$ . If F is a  $(\mu - \omega(kerF_*))$ -pluriharmonic map, then F is a horizontally homothetic map if and only if the following conditions

$$(\nabla F_*)^{\perp}(X,Y) + (\nabla F_*)^{\perp}(JX,CY) = 0$$

and

$$F_*(A_{JX}BY) = 0$$

are satisfied for  $X \in \Gamma(\mu)$  and  $Y \in \Gamma(\omega(kerF_*))$ .

**Proof.** From the definition of  $(\mu - \omega(kerF_*))$  – pluriharmonic map, (2.2), (2.10) and (3.13) we have

$$0 = (\nabla F_{*})(X, Y) + (\nabla F_{*})(JX, JY)$$

$$0 = (\nabla F_{*})^{\perp}(X, Y) + X(\ln \lambda)F_{*}(Y) + Y(\ln \lambda)F_{*}(X)$$

$$- q_{M}(X, Y)F_{*}(qrad(\ln \lambda)) + (\nabla F_{*})(JX, BY) + (\nabla F_{*})(JX, CY).$$

Since the distributions  $\mu$  and  $\omega(kerF_*)$  are orthogonal to each other, we have  $g_M(X,Y)=0$ . So, we obtain

$$0 = (\nabla F_{*})^{\perp}(X,Y) + X(\ln \lambda)F_{*}(Y) + Y(\ln \lambda)F_{*}(X)$$

$$- F_{*}(A_{JX}BY) + (\nabla F_{*})^{\perp}(JX,CY) + JX(\ln \lambda)F_{*}(CY)$$

$$+ CY(\ln \lambda)F_{*}(JX) - g_{M}(JX,CY)F_{*}(grad(\ln \lambda))$$
(3.37)

for  $X \in \Gamma(\mu)$  and  $Y \in \Gamma(\omega(kerF_*))$ . Suppose that F is a horizontally homothetic map. From (3.37) we have

$$0 = X(\ln \lambda)F_*(Y) + Y(\ln \lambda)F_*(X)$$

$$+ JX(\ln \lambda)F_*(CY) + CY(\ln \lambda)F_*(JX)$$

$$- g_M(JX, CY)F_*(grad(\ln \lambda)). \tag{3.38}$$

Since F is a horizontally homothetic map from (3.37) we obtain  $F_*(A_{JX}BY)=0$  and  $(\nabla F_*)^{\perp}(X,Y)+(\nabla F_*)^{\perp}(JX,CY)=0$  for  $X\in\Gamma(\mu)$  and  $Y\in\Gamma(\omega(kerF_*))$ . Suppose that  $F_*(A_{JX}BY)=0$  and  $(\nabla F_*)^{\perp}(X,Y)+(\nabla F_*)^{\perp}(JX,CY)=0$  for  $X\in\Gamma(\mu)$  and  $Y\in\Gamma(\omega(kerF_*))$  in (3.37). Using conformality of F for  $X\in\Gamma(\mu)$  in (3.38) we get

$$0 = \lambda^{2} \{ X(\ln \lambda) g_{M}(Y, X) + Y(\ln \lambda) g_{M}(X, X)$$

$$+ JX(\ln \lambda) g_{M}(CY, X) + CY(\ln \lambda) g_{M}(JX, X)$$

$$- X(\ln \lambda) g_{M}(JX, CY) \}.$$

$$(3.39)$$

We know  $g_M(CY, X) = g_M(JY, X) = -g_M(Y, JX) = 0$ ,  $g_M(JX, CY) = 0$  for  $X \in \Gamma(\mu)$  and  $Y \in \Gamma(\omega(\ker F_*))$  from (3.13). Then we obtain from (3.39)  $\lambda^2 Y(\ln \lambda)g_M(X, X) = 0$ , which implies that  $\omega(\ker F_*)(\operatorname{grad}(\ln \lambda)) = 0$ . For  $X \in \Gamma(\mu)$  and JX = X in (3.38) we get

$$0 = \lambda^{2} \{ X(\ln \lambda) g_{M}(Y, X) + Y(\ln \lambda) g_{M}(X, X)$$

$$+ X(\ln \lambda) g_{M}(CY, X) + CY(\ln \lambda) g_{M}(X, X)$$

$$- X(\ln \lambda) g_{M}(X, CY) \}.$$

$$(3.40)$$

Since  $\lambda$  is a constant on  $\omega(kerF_*)$  we have  $Y(\ln \lambda) = 0$ . We get from (3.40)  $0 = \lambda^2 C Y(\ln \lambda)$   $g_M(X,X)$  that implies  $(C(kerF_*)^{\perp})(grad(\ln \lambda)) = 0$ . It means  $\lambda$  is a constant on  $C(kerF_*)^{\perp}$ . Lastly for  $Y \in \Gamma(\omega(kerF_*))$  and JX = X in (3.38) we get

$$0 = \lambda^{2} \{ X(\ln \lambda) g_{M}(Y, Y) + Y(\ln \lambda) g_{M}(X, Y)$$

$$+ X(\ln \lambda) g_{M}(CY, Y) + CY(\ln \lambda) g_{M}(X, Y)$$

$$- Y(\ln \lambda) g_{M}(X, CY) \}.$$

$$(3.41)$$

We know  $g_M(CY,Y) = g_M(JY,Y) = 0$  from (3.13) for  $Y \in \Gamma(\omega(kerF_*))$ . Then we obtain from (3.41)  $0 = \lambda^2 X(\ln \lambda)g_M(Y,Y)$ , which implies that  $\mu(grad(\ln \lambda)) = 0$ . Thus,  $\mathcal{H}(grad(\ln \lambda)) = 0$ . It can be seen from here that F is a horizontally homothetic map.

**Theorem 3.12.** Let  $F:(M,g_M,J) \longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M,g_M,J)$  to a Riemannian manifold  $(N,g_N)$ . F is a  $\mu$ -pluriharmonic map if and only if  $\lambda$  is a constant on  $\omega(\ker F_*)$ .

**Proof.** From the definition of  $\mu$ - pluriharmonic map and (2.10), we have

$$0 = (\nabla F_*)^{\perp}(X, Y) + X(\ln \lambda)F_*(Y) + Y(\ln \lambda)F_*(X)$$
$$- g_M(X, Y)F_*(grad(\ln \lambda)) + (\nabla F_*)^{\perp}(JX, JY) + JX(\ln \lambda)F_*(JY)$$
$$+ JY(\ln \lambda)F_*(JX) - g_M(JX, JY)F_*(grad(\ln \lambda))$$

for  $X, Y \in \Gamma(\mu)$ . Since  $g_M(X, Y) = g_M(JX, JY)$  we obtain

$$0 = (\nabla F_{*})^{\perp}(X,Y) + (\nabla F_{*})^{\perp}(JX,JY) + X(\ln \lambda)F_{*}(Y)$$

$$+ Y(\ln \lambda)F_{*}(X) + JX(\ln \lambda)F_{*}(JY) + JY(\ln \lambda)F_{*}(JX)$$

$$- 2g_{M}(X,Y)F_{*}(grad(\ln \lambda)).$$
(3.42)

Now taking X = Y in (3.42) we get

$$0 = (\nabla F_*)^{\perp}(X, X) + (\nabla F_*)^{\perp}(JX, JX) + 2X(\ln \lambda)F_*(X) + 2JX(\ln \lambda)F_*(JX) - 2g_M(X, X)F_*(grad(\ln \lambda)).$$
(3.43)

For  $Z \in \Gamma(\omega(kerF_*))$  in (3.43) we get

$$0 = g_N((\nabla F_*)^{\perp}(X, X), F_*(Z)) + g_N((\nabla F_*)^{\perp}(JX, JX), F_*(Z))$$

$$+ 2X(\ln \lambda)g_N(F_*(X), F_*(Z)) + 2JX(\ln \lambda)g_N(F_*(JX), F_*(Z))$$

$$- 2g_M(X, X)g_N(F_*(grad(\ln \lambda)), F_*(Z)).$$

Because of F is a conformal map and  $\mu$  is a invariant distribution we obtain

$$0 = 2\lambda^{2} \{ X(\ln \lambda) g_{M}(X, Z) + JX(\ln \lambda) g_{M}(JX, Z) \}$$

$$- 2\lambda^{2} g_{M}(X, X) g_{M}(grad(\ln \lambda), Z)$$

$$0 = -2\lambda^{2} Z(\ln \lambda) g_{M}(X, X). \tag{3.44}$$

From equation (3.44) we obtain  $Z(\ln \lambda) = 0$ , which implies that  $\lambda$  is a constant on  $\omega(kerF_*)$  for  $Z \in \Gamma(\omega(kerF_*))$ . The converse is clear.

We now give necessary and sufficient conditions for a conformal slant Riemannian map to be totally geodesic map.

**Theorem 3.13.** Let  $F:(M,g_M,J) \longrightarrow (N,g_N)$  be a conformal slant Riemannian map from a Kaehler manifold  $(M,g_M,J)$  to a Riemannian manifold  $(N,g_N)$ . Then, F is a totally geodesic map if and only if the following conditions are satisfied for  $X,Y,Z \in \Gamma((\ker F_*)^{\perp})$  and  $U,V \in \Gamma(\ker F_*)$ ;

i- 
$$g_N(F_*(Ch^M_{\nabla U}\omega V) + F_*(\omega\hat{\nabla}_U\phi V + \omega T_U\omega V), F_*(X)) = 0,$$

ii- F is a horizontally homothetic map and  $(\nabla F_*)^{\perp}(X,Y) = 0$ .

**Proof.** Now, from (2.2), (2.5), (3.12) and (3.13) we have

$$(\nabla F_*)(U, V) = F_*(JT_U\phi V + J\hat{\nabla}_U\phi V) + F_*(\omega T_U\omega V + Ch\overset{M}{\nabla}_U\omega V).$$

Because T is symmetric, we get

$$(\nabla F_*)(U, V) = \cos^2 \theta F_*(T_V U) + F_*(\omega \hat{\nabla}_U \phi V) + F_*(\omega T_U \omega V + Ch \nabla_U \omega V)$$

which implies that

$$\sin^2 \theta(\nabla F_*)(U, V) = F_*(\omega \hat{\nabla}_U \phi V) + F_*(\omega T_U \omega V + Ch \nabla_U \omega V)$$
(3.45)

for  $U, V \in \Gamma(kerF_*)$ . Thus, we obtain from (3.45)

$$\sin^{2}\theta g_{N}((\nabla F_{*})(U, V), F_{*}(X)) = g_{N}(F_{*}(\omega \hat{\nabla}_{U} \phi V + \omega T_{U} \omega V), F_{*}(X)) + g_{N}(F_{*}(Ch \nabla_{U} \omega V), F_{*}(X))$$
(3.46)

for  $X \in \Gamma((ker F_*)^{\perp})$ . (i) is satisfied in (3.46). Now, from (2.9) we get

$$(\nabla F_{*})(X,Y) = (\nabla F_{*})^{\perp}(X,Y) + (\nabla F_{*})^{\top}(X,Y)$$

$$= (\nabla F_{*})^{\perp}(X,Y) + X(\ln \lambda)F_{*}(Y) + Y(\ln \lambda)F_{*}(X)$$

$$- g_{M}(X,Y)F_{*}(grad(\ln \lambda))$$
(3.47)

for  $X, Y \in \Gamma((ker F_*)^{\perp})$ . From (3.47) we have

$$g_{N}((\nabla F_{*})(X,Y), F_{*}(X)) = g_{N}((\nabla F_{*})^{\perp}(X,Y), F_{*}(X))$$

$$+ X(\ln \lambda)g_{N}(F_{*}(Y), F_{*}(X))$$

$$+ Y(\ln \lambda)g_{N}(F_{*}(X), F_{*}(X))$$

$$- g_{M}(X,Y)g_{N}(F_{*}(grad(\ln \lambda)), F_{*}(X))$$

$$= Y(\ln \lambda)g_{N}(F_{*}(X), F_{*}(X))$$

$$= \lambda^{2}Y(\ln \lambda)g_{M}(X,X)$$

for  $X \in \Gamma((kerF_*)^{\perp})$ . We have  $0 = \lambda^2 Y(\ln \lambda) g_M(X, X)$  which implies  $Y(\ln \lambda) = 0$ . So,  $\lambda$  is a constant on  $(kerF_*)^{\perp}$ . F is a horizontally homothetic map and from (3.47) we get  $(\nabla F_*)^{\perp}(X,Y) = 0$ . Therefore, (ii) is satisfied. We complete the proof.

Acknowledgments. The authors would like to thank the referee for useful comments and their helpful suggestions that have improved the quality of this paper. This paper was supported by the Scientific and Technological Research Council of Turkey (TUBITAK) with number 114F339.

#### References

- [1] Akyol, M. A., & Gündüzalp, Y. (2018). On the geometry of conformal anti-invariant  $\xi^{\perp}$  submersions, Int. J. Maps Math. 1(1), 50-67.
- [2] Akyol, M.A. (2017). Conformal semi-slant submersions. Int. J. Geom. Method in Modern Phsyic., 14(7), 1750114.
- [3] Akyol, M. A., & Ṣahin, B. (2016). Conformal anti-invariant submersions from almost Hermitian manifolds. Turk. J. Math., 40, 43-70.
- [4] Akyol, M. A., & Şahin, B. (2017). Conformal semi-invariant submersions. Commun. Contemp. Math., 19(2), 1650011.
- [5] Akyol, M. A., & Ṣahin, B. (2017). Conformal slant Riemannian maps to Kaehler manifolds. Tokyo J. Math., 42(1), 225-237.
- [6] Akyol, M. A., & Ṣahin, B. (2018). Conformal anti-invariant Riemannian maps to Kaehler manifolds. U.P.B. Sci Bull Series A, 80(4), 187-198.
- [7] Akyol, M. A., & Sahin, B. (2019). Conformal slant submersions. Hacet. J. Math. Stat., 48(1), 28-44.
- [8] Baird, P., & Wood, J. C. (2003). Harmonic morphisms between Riemannian manifolds (No. 29). Oxford University Press.
- [9] Chen, B. Y. (1990). Slant immersions. Bull. Austral. Math. Soc., 41, 135-147.
- [10] Falcitelli, M., Ianus, S., & Pastore, A. M. (2004). Riemannian submersions and related topics, World Sci. Publishing, River Edge, NJ.

- [11] Fischer, A. E. (1992). Riemannian maps between Riemannian manifolds. Contemp. Math., 132, 331-366.
- [12] Fuglede, B. (1978). Harmonic morphism between Riemannian manifolds, Ann. de l'Institut Fourier, 28(2), 107-144.
- [13] Gray, A. (1967). Pseudo-Riemannian almost product manifolds and submersions. J. Math. Mech., 16, 715-738.
- [14] Gündüzalp, Y., & Akyol, M. A. (2018). Conformal slant submersions from cosymplectic manifolds. Turk. J. Math., 42(5), 2672-2689.
- [15] Ishiara, T. (1979). A mapping of Riemannian manifolds which preserves harmonic functions. J. Math. Kyoto Univ., 19, 215-229.
- [16] Miao, J., Wang, Y., Gu, X., & Yau, S. T. (2005). Optimal global conformal surface parametrization for visualization. Commun. Inf. Syst., 4(2), 117-134.
- [17] Nore, T. (1987). Second fundamental form of a map. Ann. Mat. Pur. and Appl., 146, 281-310.
- [18] Ohnita, Y. (1987). On pluriharmonicity of stable harmonic maps. Jour. London Math. Soc., 35(2), 563-587.
- [19] O'Neill, B. (1966). The fundamental equations of a submersion. Michigan Math. J., 13(4), 459-469.
- [20] Park, K.S., & Prasad, R. (2013). Semi-slant submersions. Bull. Korean Math. Soc., 50(3), 951-962.
- [21] Ṣahin, B. (2010). Conformal Riemannian maps between Riemannian manifolds, their harmonicity and decomposition theorems. Acta Appl. Math., 109, 829-847.
- [22] Ṣahin, B. (2011). Slant submersions from almost Hermitian manifolds. Bull. Math. Soc. Sci. Math. Roumanie (N.S.), 54(102), 93-105.
- [23] Sahin, B. (2012). Manifoldların Diferensiyel Geometrisi (Turkish). Nobel Academic Press.
- [24] Ṣahin, B. (2013). Slant Riemannian maps from almost Hermitian manifolds. Quaest. Math., 3(36), 449-461
- [25] Ṣahin, B. (2013). Slant Riemannian maps to Kaehler manifolds. Int. J. Geom. Methods Mod. Phys., 10(2), 1250080.
- [26] Ṣahin, B. (2017). Riemannian submersions, Riemannian maps in Hermitian geometry, and their applications. Elsevier.
- [27] Ṣahin, B., & Yanan, Ṣ. (2018). Conformal Riemannian maps from almost Hermitian manifolds. Turk. J. Math., 42, 2436-2451.
- [28] Ṣahin, B., & Yanan, Ṣ. (2019). Conformal semi-invariant Riemannian maps from almost Hermitian manifolds. Filomat, 33(4), 1125-1134.
- [29] Wang, Y., Gu, X., & Yau, S. T. (2003). Volumetric harmonic map. Commun. Inf. Syst., 3(3), 191-201.
- [30] Wang, Y., Gu, X., Chan, T. F., Thompson, P. M., & Yau, S. T. (2007). Brain surface conformal parametrization with the Ricci flow. In: IEEE International Symposium on Biomedical Imaging-From nano to macro (ISBI); Washington D.C., 1312-1315.

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE AND LETTERS, ADIYAMAN UNIVERSITY, ADIYAMAN TURKEY

DEPARTMENT OF MATHEMATICS, SCIENCE FACULTY, EGE UNIVERSITY İZMİR-TURKEY